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Cluster: 0114 ptr; resid: 0.31; r/c: 25/69
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upstream meme PSSM #1; e=20

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=270
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8996−0.62
37738−0.68
47901−0.76
45109−0.78
45479−0.84
49521−1.19
31658−1.42
43138−1.46
42683−1.74
44570−2.06
45091−2.37
46265−2.72
10974−3.26
46497−3.54
12309−4.18
44454−4.23
14696−4.65
33765−5.16
44433−5.39
42605−5.64
33195−5.70
41220−6.02
13557−6.38
11271−6.46

log10(P) upstream meme1 2 log10(P.clust)=−3.10; 25 seqs; 25 uniq
c(0.5, 2.5)
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